

Brief solutions to selected problems in homework week 05

Sec 2.6

61. For any  $M > 0$ , take  $\delta = \left(\frac{1}{M}\right)^{\frac{3}{2}} > 0$  s.t.

(a) if  $0 < x < \delta$  then  $f(x) \geq \frac{1}{x^{\frac{3}{2}}} > \frac{1}{\delta^{\frac{2}{3}}} = M$

(b) if  $0 < -x < \delta$  then  $f(x) \geq \frac{1}{x^{\frac{3}{2}}} > \frac{1}{\delta^{\frac{2}{3}}} = M$

(c) if  $0 < x-1 < \delta$  then  $f(x) \geq \frac{2}{(x-1)^{\frac{3}{2}}} > \frac{2}{\delta^{\frac{2}{3}}} = 2M > M$

(d) if  $0 < 1-x < \delta$  then  $f(x) \geq \frac{2}{(x-1)^{\frac{3}{2}}} > \frac{2}{\delta^{\frac{2}{3}}} = 2M > M$

85.  $\lim_{x \rightarrow \infty} (\sqrt{x^2+3x} - \sqrt{x^2-2x}) = \lim_{x \rightarrow \infty} \frac{5x}{\sqrt{x^2+3x} + \sqrt{x^2-2x}}$

$$= \lim_{x \rightarrow \infty} \frac{5}{\sqrt{1+\frac{3}{x}} + \sqrt{1-\frac{2}{x}}}$$

$\left(\lim_{x \rightarrow \infty} \frac{1}{x} = 0\right) = \frac{5}{2}$

92. For any  $M > 0$ , take  $\delta = \sqrt{\frac{1}{M}} > 0$ ,

$0 < |x+5| < \delta \Rightarrow 0 < |x+5|^2 < \delta^2 = \frac{1}{M} \Rightarrow \frac{1}{(x+5)^2} > M$

93. (a)  $\lim_{x \rightarrow c} f(x) = \infty \Leftrightarrow$  For any  $M > 0$ , there exists a  $\delta > 0$  s.t.  
if  $-\delta < x - c < 0$  then  $f(x) > M$

(b)  $\lim_{x \rightarrow c} f(x) = -\infty \Leftrightarrow$  For any  $-M < 0$ , there exists a  $\delta > 0$  s.t.  
if  $0 < x - c < \delta$  then  $f(x) < -M$

(c)  $\lim_{x \rightarrow c} f(x) = -\infty \Leftrightarrow$  For any  $-M < 0$ , there exists a  $\delta > 0$  s.t.  
if  $-\delta < x - c < 0$  then  $f(x) < -M$

Figure 1: Brief answers to selected problems in section 2.6, part 1

95. For any  $-M < 0$ , take  $\delta = \frac{1}{M} > 0$  s.t.

if  $-\delta < x < 0$  then  $\frac{1}{x} < \frac{1}{-\delta} = -M$

97. For any  $M > 0$ , take  $\delta = \frac{1}{M} > 0$  s.t.

if  $0 < x-2 < \delta$  then  $\frac{1}{x-2} > \frac{1}{\delta} = M$

額外題 6

$\lim_{x \rightarrow \infty} f(x) = \infty \Leftrightarrow$  for any  $M > 0$ , there exists a  $N > 0$  s.t.

if  $N < x$  then  $f(x) > M$

$\lim_{x \rightarrow \infty} f(x) = -\infty \Leftrightarrow$  for any  $M > 0$ , there exists a  $N > 0$  s.t.

if  $N < x$  then  $f(x) < -M$

$\lim_{x \rightarrow -\infty} f(x) = \infty \Leftrightarrow$  for any  $M > 0$ , there exists a  $N > 0$  s.t.

if  $x < -N$  then  $f(x) > M$

$\lim_{x \rightarrow -\infty} f(x) = -\infty \Leftrightarrow$  for any  $M > 0$ , there exists a  $N > 0$  s.t.

if  $x < -N$  then  $f(x) < -M$

Show:  $\lim_{x \rightarrow \infty} -x^3 = -\infty$

for any  $M > 0$ , there exists a  $N = \sqrt[3]{M} > 0$  s.t.

if  $x > N > 0$  then  $x^3 > N^3 = M$

$\Rightarrow -x^3 < -M$

Figure 2: Brief answers to selected problems in section 2.6, part 2

3-2

48 (a)  $[-3, 2) \cup (-2, 2) \cup (2, 11]$

(b)  $x = \pm 2$

(c) None

54  $y = \sqrt{x}$

$$y' = \lim_{h \rightarrow 0} \frac{\sqrt{x+h} - \sqrt{x}}{h}$$

$$= \lim_{h \rightarrow 0} \frac{(\sqrt{x+h} - \sqrt{x})(\sqrt{x+h} + \sqrt{x})}{h(\sqrt{x+h} + \sqrt{x})}$$

$$= \lim_{h \rightarrow 0} \frac{x+h-x}{h(\sqrt{x+h} + \sqrt{x})} = \lim_{h \rightarrow 0} \frac{1}{\sqrt{x+h} + \sqrt{x}} = \frac{1}{2\sqrt{x}}$$

tangent line at  $(a, \sqrt{a})$  for  $a > 0$ :  $y = \sqrt{a} + \frac{1}{2\sqrt{a}}(x-a)$

cross  $x$ -axis at  $x = -1$   $\Leftrightarrow (-1, 0)$  on the line

$$\Leftrightarrow 0 = \sqrt{a} + \frac{1}{2\sqrt{a}}(-1-a) \Leftrightarrow 0 = \frac{1}{2}(\sqrt{a} - \frac{1}{\sqrt{a}}) \Leftrightarrow \sqrt{a} = \frac{1}{\sqrt{a}} \Leftrightarrow a = 1$$

$\therefore$  tangent line at  $(1, 1)$ :  $y = 1 + \frac{1}{2}(x-1)$  is the tangent line to  $y = \sqrt{x}$

cross the  $x$ -axis at  $x = -1$   $\neq$

Figure 3: Brief answers to selected problems in section 3.2

$$\begin{aligned}
 4. & \frac{d}{dx} \begin{vmatrix} f_{11}(x) & f_{12}(x) \\ f_{21}(x) & f_{22}(x) \end{vmatrix} \\
 &= \frac{d}{dx} (f_{11}(x)f_{22}(x) - f_{12}(x)f_{21}(x)) \\
 &= \frac{f_{11}'(x)f_{22}(x) + f_{11}(x)f_{22}'(x) - f_{12}'(x)f_{21}(x) - f_{12}(x)f_{21}'(x)}{1} \\
 &\rightarrow \begin{vmatrix} f_{11}'(x) & f_{12}(x) \\ f_{21}(x) & f_{22}(x) \end{vmatrix} + \begin{vmatrix} f_{11}(x) & f_{12}(x) \\ f_{21}(x)' & f_{22}'(x) \end{vmatrix} \\
 &\rightarrow \begin{vmatrix} f_{11}'(x) & f_{12}(x) \\ f_{21}'(x) & f_{22}(x) \end{vmatrix} + \begin{vmatrix} f_{11}(x) & f_{12}'(x) \\ f_{21}(x) & f_{22}'(x) \end{vmatrix} \\
 5. & \frac{d}{dx}(u(x)v(x)) = uv' + u'v \\
 & \frac{d^2}{dx^2}(u(x)v(x)) = uv'' + u''v + 2u'v' + u'v' = uv'' + 2u'v' + u''v \\
 & \frac{d^3}{dx^3}(u(x)v(x)) = uv''' + 3u''v' + 3u'v'' + u'''v \\
 \text{Claim } \frac{d^n}{dx^n} &= \sum_{k=0}^n \binom{n}{k} u^{(k)} v^{(n-k)} \\
 n=2 \text{ hold, Assume } n=m \text{ hold} \\
 \text{For } n=m+1, \frac{d^{m+1}}{dx^{m+1}}(u(x)v(x)) &= \frac{d}{dx} \left( \frac{d^m}{dx^m} (u(x)v(x)) \right) \\
 &= \frac{d}{dx} \left( \sum_{k=0}^m \binom{m}{k} u^{(k)} v^{(m-k)} \right) \\
 &= \sum_{k=0}^m \binom{m}{k} u^{(k+1)} v^{(m-k)} + \sum_{k=0}^m \binom{m}{k} u^{(k)} v^{(m-k-1)} = u^{(m+1)} + \sum_{k=1}^m [\binom{m}{k} + \binom{m}{k-1}] u^{(k)} v^{(m-k-1)} + u^{(m)} v \\
 &= \sum_{k=0}^{m+1} \binom{m+1}{k} u^{(k)} v^{(m+1-k)} \text{ hold by Induction, Claim hold } \#
 \end{aligned}$$

Figure 4: Brief answers to selected problems in section 3.3